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Example :- Supposed the year 2005 is a base year and the
value of Pn, Pm and Qnis 100 for this year. Again the value of Pn

=140, Pm =98 and Qn="90. In the year 2009 find out the value
of income terms of trade ?
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Now,
140
ITT = —x9()
98

/TT = 1.4286x90,
~ATT = 128.57]
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alue of Px,
Example :- Supposed the base year 2005 and the v
Pm and Qx of this year is 100, Again the current year is 2010 a;xld
the value of Px, Pm and Qxare 110, 155 and 119, find out the
value of income terms of trade.
Answer :-
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2.2.6.2(a) <@ A AT T4 (Single Factoral Terms
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wefe SFTT = NBTT x Zx
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To SFIT = ¢33 el e 29
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Pm = SWie 50 SPRS
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NBIT = X x 100,

m
150
B3TT =~ x 100,
NBT 70
= 0.88235><]OO,

= 88.235
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170
= 0.88235x 130,

=114.7055
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Px
= -— x 100,
Pm

160

; v 100,
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1.3333x100
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=@x70,

120
=1.3333x70

=93.3333
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